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Read, this number
What is the value of the digit 37
Multiply this number by 10
What is 0.2 less?






10 x 9 =

99




Whatis 5/10
as a decimal?
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Sentence Stems:

The product of (number ) and, (number b) is (number o).
The product of 7 and, & is 28.
Multiplying arything by | gives the same number as this s the: same as one Lot of anything,
When multiplying by 10, the digits move one place to the Lefk:
The distributive law: (umber) @ (number) = (number) = (number) ~/ + (umber) = )
The distributive law: 9 < 8 = 10 < 8 - | « 8
The distribufive law: |1« 8 = 10 < 8 + | x 8
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Review
12 o 6 =




When | multiply by

10, | add a zero.

Dogmagx\e,e/?
Exfﬂﬂm%ow\an&w.

The astfronaut is incorrect.

When you multiply by 10, the number is 10 times bigger.
When multiplying by 10, the digits move one place to the left.
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For example,

I
txe- 2000000000
SO00000000 |
OO0CO000D |
SO00000000 |
SO00000000 |
SO00000000 !

13

|
|

10x8 =80 1 x8=28



10x 5 =50 | 2x5=10
10 lots of 5 =50 2lotsof 5=10

10 o 5 4+ 2 x 5 —joxs5= &0
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The astronaut has shown & x© |2 usmg/Base
1O.

Cmnpld}e/ﬂxefseoalmdahon&bused/omﬂu&
r\epre/sentﬂhm

b o |2 = 48

48
A

2 b - 40



We do

The astronaut has made 60 cookies for a cake sale.

He puts 12 in each bag.
How many bags of cakes does he have?

Complete the bar model to show this calculation

60 cookies

12 12

12

12

12

60+ 12 =05,

The astronaut has 5 bags of cookies.
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Plenary

éa. Fill in the grid to find the answer.

X 10 2

axen [ )
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8a. Complete the missing numbers.

A. x 11 = 22
B 8 x 12 =
- ¥ 2 = 11




